Efficiency vs P,

70.07
o
9.009
>
2.008
@
2.007
(4]
0.006
0.005
0.004
0.003
0.002
0.001
G-

Ratio

15

1=---- + R M eeaaeaaaas e

107 1 10 prT (Ge\})o3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

................................................

.............

.............

TP n

Efficiency vs ¢

0.0l
o E
.009F;
(&) .
9.008F
¢ :
@.007E
o :
0.006F:
0.005F
0.004F
0.003E
0.002f: -+
0.0018: -+

Ratio




	Contents
	Page 1


